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50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

International Fmanmal Ménagement

Time: 3 hrs. Max. Marks:80

/has USD ($).1,000, 000

'C$ 13690

Note: 1. Answer any FOUR full ques?ions Jfrom Q.No.1 to Q No.7.
2. Question No. 8 is comp. ot;v

ncmg in international busmess (02 Marks)

What are the exposure to mternatlonaLUs Explain. (06 Marks)
Explain the types of disequilibrium in Balance of payment O (08 Marks)
What is a crawling peg and how does it work? Com? (02 Marks)
Explain the measures to determine exchange rates in the spot market (06 Marks)
Prepare a BOP statement.for France from the fol]owmg data:

(1) France export

(i)

(iii)

(iv)

v)

(vi)
"*‘“Daeca FFr 1000. )

(vii) France Telecon mvests i_n‘"India ; FFr 4,500

(viit) 3

(ix)

(%) A swiss resident buys a French Treasury bond FFr 5000_.°

{xi) A short term. Ioan advanced by BNP to a British resident:; FFr 4000

(xii)  France borrow.s FFr 3800 for sho ferm. (08 Marks)

Spot rate is Rs.64.50/8. Three month forw ate is Rs.64. 3Q/$ Speculators own estimate is

that the future spot rate after 3 months*should be Rs.64. I0/$WW111 the speculator go for a

forward contragetiif he has $10000 at. hxs ‘disposal? (02 Marks)

The following ate three quotes in three Forex markets g -

$ 1 =Rs%64.3011 in Mumbai ¢,

£ 1=Rs:96.1125 in Londons,

£ 1 =Rs!1.6231 in New York

Are any arbitrage gains: pdsmble‘? Assume there are no transistion costs and the arbitrageur
(06 Marks)

/Bank in Canada di plays the folrowmg‘ quotatlon

$1  1.420

At the same:time a bank in New York quotes S _ - 0.7100
C$1  0.7234

(i) Isthere any arbitrage’ opportumty?
(i) If the Canadian: bank Towers its ask rate to C$ 1.3742, Is there exists any arbitrage

opportunity.
(iii) If you buy $1 million from Canada and Sell then in US after the reduction of rate in

,,,,,,

Canada. W'hat is the riskless profit you will make? (08 Marks)
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What does corréspondent bank mean?
Explain the various methods of exchange rate regimes. (06 Marks)
The total translation exposure of HONEY LLC is Rsil:S.million. This exposure is in French
francs. Interest rates are 8 & 11 percent for the, ﬁ'arics and rupee respectively. How is

hedging to be done? Spot rate is Rs.6/FFr. The rlf eﬁ"‘ts likely to depreciate by 6 percent.
o & (08 Marks)

(02 Marks)

Differentiate between International quurdl % (02 Marks)
Define and differentiate between Euro Botids and Euro Credlts (Euro Currency Loan).

% (06 Marks)
Company A and Company B hav beén offered the followm  rate p.a. on a § 20 million 5
year loan. é;, N )
Com any | Fixed rate Floatmg rate

& 12% LlBOR + 1%

y ' B 13.4% | LIBOR + 0.6%
Company A requires floating rate loan and company B requires a fixed rate loan. Design a
swap agreement that will net a bank acting as<intermediary 0.1% p.a and that will appear
equally attractive to'both the companies. (08 Marks)

&

What is/ mte Hational Fisher Effect?- (02 Marks)
An Ipdv' n fmporter imports goqu‘“ ,forth £ 62,500 the e;gpccts an appreciation of pound. So
he goes for hedging the risk. The‘gfarrency market has tﬁe following data

Spot rate on the day oficontract Rs.68.00/ % %«V
3 month forwarg%te Rs.68.50/%.
Strike rate in a”‘B‘i&]onth call option, 68 0/£ with 5% premlum
strike rate in @3 month put optlorrR.s& 80/£ with 5%

U] Spot raté or the date of paymcntfﬁ%gturrty Rs.68. 90/£
Will he go fora: hedge" If so, which ofthe options he will seléct? (06 Marks)
Explain brleﬂy the internal hedgmg techniques. ’ (08 Marks)

Deﬁne’country risk. ¢ s (02 Marks)
What is political risk? Ex&la political rlslq‘maﬁ%gement stages used by MNC. (06 Marks)
nillion requires 90-days to make the payment. The
werseas suppliers @asfgffered 60-days interest free credit period and for additional credit for
>F'8% per annum. The bankers of Z Itd., offer 30 days loan at 10% p.a.
and their quote fc‘;? forelgn exchang >is as follows:

Spot 1USD “‘& 56.50 G '
60 days forward IUSD =Rs.57.10
90 days Forward IUSD = Rs. 57.50

You are required to evalu‘“  the following options:
(i) Pay the supplier in 5 days or

(i) Avail the supphcrs offer of 90 days credit.
Advice the Z L

%

(08 Marks)
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). ,64,897 from one of the US
ant spot and forward rates are :

A Ltd., of UK has imported some chemical wo N
suppliers. The amount is payable in 6 months time. Thg@ﬁf
Spot rate : USD 1.5617 — 1.5673 PN
6 m forward rate : USD 1.5455 — 1.5609 L

The borrowing rates in UK and US are 7% and 6 o tespectively and deposit rates are 5.5%
and 4.5% respectively. Currency options are a@azi;&l_agéie under which one option contract is for
GBP 12,500. The option premium for GBfP at a strike prize of USD ﬁ%ZQ/GBP is USD 0.037
(call option) and USD 0.096 (put option)_for 6 months period.

The company has 3 choices: N

(i) Forward cover. (04 Marks)
(i) ~ Money market cover s, (06 Marks)
(iii) ~ Currency option. (06 Marks)

@, :
Which of the alternatives is,&’pr&é‘?er%ble by the company?

y?




